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(Ôî\T>·T MT&�jáT+)

bÍsÁT¼ - m Ê _

ÔásÁ>·Ü : 10               >·]w�÷ eÖsÁTØ\T : 40 d�eTjáT+ : 2:45 >·+öö

d�Ö#áq\T :
1. ç|�Ü ç|�Xø�qT u²>± #á<�e+&�.
2. bÍsÁT¼ ` m d�eÖ<ó�qeTT\T yûs=¿£ Èy��T |�çÔáeTTýË çy�jáTeýÉqT.
3. bÍsÁT¼ ` m ýË eTÖ&�T �d¿£üqT¢ ¿£\eÚ.
4. ç|�Ü ç|�Xø�Å£� d�eÖ<ó�q$TjáT«+&�.
5. ç|�Ü Èy��TqT d�Îw�¼+>±, #á¿£Ø>± ¿£q|�&ûý² s�jáT+&�.
6. �d¿£üqT ̀ 3 ýË n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

�d¿£üqT - I
>·eT�¿£ :

1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáTTeTT.

2. ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ.      4 x 1 = 4 eÖsÁTØ\T

1.  3125
243

5/3log jîTT¿£Ø $\TeqT ¿£qT>=qTeTT.

2. A = {0,1,2} eT]jáTT B = {2,4} nsTTq n(A È B) qT ¿£qT>=qTeTT..

3. 2x2 + x - 1 �V�Q|�~ jîTT¿£Ø XøSq« $\Te        n>·THÃ ¿±<Ã d�]#áÖ&�TeTT

4. v = l x b x h q+<�T >·\ |�<�eTT\qT $e]+#áTeTT

>·eT�¿£ :

1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2  eÖsÁTØ\T.    5 x 2 = 10 eÖsÁTØ\T

5. 7 
x

= 9 
x - 2  qT kÍ~ó+#áTeTT

eÖsÁTØ\T : 30                      bÍsÁT¼ - m

1
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6. y�d�ïe d�+U²« d�$TÜ, ¿£sÁD¡jáT, |�PsÁ� d�+K«\T, |�Ps��+¿±\T eT]jáTT d�V�²È d�+U²«

d�$TÔáT\ eT<ó�«>·\ d�+�+<ó��� yîH� ̀  ºçÔáeTT d�V�äjáTeTTÔÃ #áÖ|�ÚeTT.

7. x 2 - 25 jîTT¿£Ø XøSH�«\qT ¿£qT>=� XøSq« $\Te\Å£�, |�<� >·TD¿±\Å£� eT<ó�«>·\

d�+�+<ó��� d�]#áÖ&�+&�.

8. u²>±V�äsÁ H�«jáTeTT p(x) = g(x) x q(x) + r(x) q+<�T r(x) = 0 n>·Tq³T¢>±

p(x) = g(x) Âs+&ûd¾ �<�V�²sÁD*eÇ+&�.

9 ‘A’ nqTq~ ‘5’ ¿£q� ÔáÅ£�Øe nsTTq ç|�<ó�q d�+K«\ d�$TÜ. ‘B’ nqTq~ ‘30’ jîTT¿£Ø

ç|�<ó�q ¿±sÁD²+¿±\ d�$TÜ nsTTq A - B = B - A n>·TH�?

�d¿£üqT - III
>·eT�¿£ :

1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáTTeTT.

2. ÿ¿=Ø¿£Ø ç|�Xø� qT+º ÿ¿£ <��� eÖçÔáyûT mqT�¿=qTeTT.

3. ç|�Ü ç|�Xø�Å£� 4  eÖsÁTØ\T.    4 x 4 = 16 eÖsÁTØ\T

10. (a)   ÿ¿£  |��Tq �V�Q|�~  4x3- 11x2 - 19x - 4 jîTT¿£Ø XøSH�«\T 4, -1, -       n>·Tq�

  d�]#áÖ&�+&�. �+¿£qT �V�Q|�~ >·TD¿±\Å£�, XøSH�«\Å£� eT<ó�«>·\ d�+�+<ó���

  d�]#áÖ&�+&�.

(ýñ¿£)

      (b)   2Ö¯ + Ö¯ ÿ¿£ ¿£sÁD¡jáT d�+K« n� �sÁÖ|¾+#á+&�. eT]jáTT

   (2Ö¯ + Ö¯)  (2Ö¯ - Ö¯) n¿£sÁD¡jáT eT>·THÃ, ¿£sÁD¡jáT eT>·THÃ d�]#áÖ&�+&�.

11. (a)  x2 + x - 6 jîTT¿£Ø ¹sU² ºçÔ��� ^º �V�Q|�~ XøSH�«\qT >·T]ï+#á+&�.

(ýñ¿£)

      (b)   ç¿ì+~ d�$TÔáT\Å£� yîH� ̀  ºçÔ�\qT ^jáT+&�.

    (i)  A - B (ii)  B - A (iii)  A È B (iv)  A Ç B

5 7
5 7

5 7

1
4



12.  (a)    ÿ¿£ d�ÇjáT+ d�V�äjáT¿£ ��+<�+ 6 �d+.MT uó�Ö y�«kÍsÁÆ+ eT]jáTT 8 �d+.MT mÔáTï ¿£*Z

  Xø+KTeÚ �¿±sÁ+ýË �q� CË¿£sY {Ë|Ó\qT ÔájáÖsÁT #ûjáÖ\qT¿=+~. y�sÁT 1000#á.�d+.MT

  sÁ+>·T ¿±ÐÔáeTT ¿£*Ð �q�#Ã <�� <�Çs� m�� {Ë|Ó\qT ÔájáÖsÁT#ûjáT>·\sÁT.

(ýñ¿£)
      (b)    2x + y = 7 eT]jáTT x - y = 2 \ jîTT¿£Ø kÍ<ó�q\qT eTÖý²\T>± ¿£*Ðq esÁZ

   d�MT¿£sÁDeTTqT çy�jáTTeTT.

13. (a)   A = {x  : ‘x’ nqTq~ 10 ¿£q� ÔáÅ£�Ø yîÕq d�V�²È d�+K«}
   B = {x  : ‘x’ nqTq~ 10 ¿£q� ÔáÅ£�Ø yîÕq d�] d�+K«}
   C = {x  : ‘x’ nqTq~ 10 ¿£q� ÔáÅ£�Ø yîÕq uñd¾ d�+K«} nsTTq

     (i) A - B (ii)  A- C (iii)   B È C \qT ¿£qT>=�

    (iv)    (i), (ii)‚ (iii) \ýË $jáTT¿£ï d�$TÔáTýñyÃ Ôî\T|�ÚeTT.

(ýñ¿£)
      (b)  (i) log [      ] =        ( log x + log y) nsTTq      +        $\Te ¿£qT>=qTeTT

   (ii)  3            jîTT¿£Ø $\Te ¿£qT>=qTeTT

x + y
   3

x
y

y
x

 2 + log3
2
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d �+ç>·V�²D²Ôá�¿£ eTÖý²«+¿£qeTT ` I -2016-2017
>·DìÔáeTT ` �||�sY ` 1

(Ôî\T>·T MT&�jáT+)

bÍsÁT¼ - _
ÔásÁ>·Ü : 10 >·]w�÷ eÖsÁTØ\T : 10

$<�«]Æ �|sÁT :........................................................................ sÃýÙ Hî+ : .................

d�Ö#áq\T :
1. bÍsÁT¼ ` _ ýË� n�� ç|�Xø�\Å£� Èy��T\T çy�jáTeýÉqT.
2. ç|�Ü ç|�Xø�Å£� 4 Èy��T\T ¿£\eÚ. d�]jî®Tq d�eÖ<ó�qeTTqT d�Öº+#û �|<�Ý

n¿£�sÁeTTqT ç|�Xø�Å£� m<�TsÁT>± �q� çu²Â¿³¢ýË �+#áTeTT.

3. Èy��TqT ~~ÝÔû eÖsÁTØ\T |�]>·Dì+#á�&�eÚ.

4. n�� ç|�Xø�\Å£� d�eÖq eÖsÁTØ\T ¿£\eÚ.
�d¿£üqT - IV

d�Ö#áq\T :
1. n�� ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáTTeTT.

2. ç|�Ü ç|�Xø�Å£� ½  eÖsÁTØ.             20 x ½ = 10 eÖsÁTØ\T

14. 324 eT]jáTT 360 jîTT¿£Ø >·.kÍ.uó²                         [        ]
A)  9 B) 1 C)  63 D) 36

15. logx Ö¯  = [        ]

A)   3 B) C)  0.3 D)   B eT]jáTT C

x3

Q.No 1 2 5 13
14 
-
29

3 7 10
30 
- 
31

4 8 32 33 9 12 6 11

Marks
Total

Grade

AS-1 AS-2 AS-3 AS-4 AS-5

Total

eÖsÁTØ\T : 10                      bÍsÁT¼ - _

1
3

SET - II



16. log48
2 [        ]

A) 4 B)  8 C)  2 D) 3
17. 5100 $\Te q+<�T ºe] n+Â¿             [        ]

A) 5  B) 6 C) 0 D) #î|�ÎýñeTT

18. A Ì B njûT« $<ó�+>± ‘A’‚ ‘B’ \T Âs+&�T d�$TÔáT\T nsTTq A È B =         [        ]
A)  A  B)  B C) A Ç B D)  @B¿±<�T

19. ‘A’‚ ‘B’ \T $jáTT¿£ï d�$TÔáT\T nsTTq n(A Ç B) =            [        ]
A) 1 B) f C) 0 D) {  }

20. ÈÔá |�sÁT#áTeTT                        [        ]
Group - I Group - II
L)  A È B i) A Ç B
M) {x : x Î A eT]jáTT x Î B} ii) {x : x Î A eT]jáTT x Ï B}
N) A - B iii) {x : x Î A ýñ<� x Î B}
O) x Î A  nsTTq x Î B n>·TqT  iv) A Ì B

A) L ® (iii), M ® (i), N ® (ii), O ® (iv)
B) L ® (i), M ® (ii), N ® (iii), O ® (iv)
C)  L ® (iii), M ® (i), N ® (iv), O ® (ii)
D)  L ® (iii), M ® (ii), N ® (i), O ® (iv)

21. A Ç f ¹ ______            [        ]
A) A B) f C) f - A D) {  }

22. 9x y3+10y4 +      x4-       x3y2 �V�Q|�~ jîTT¿£Ø |�]eÖDeTT            [        ]
A) 3 B) 2 C) 4 D) 5
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23. 2x+3 ¹sU²jáT �V�Q|�~ jîTT¿£Ø XøSq«eTT           [         ]
A) 0 B)  C)  -1           D) B eT]jáTT C

24. 3x3 - 5x2 - 10x + 15 �V�Q|�~ XøSH�«\ jîTT¿£Ø \�ÝeTT        [         ]
A) -5 B) 5 C) D)

25.  2 eT]jáTT 3 \qT XøSH�«\T>± ¿£*Ðq esÁZ �V�Q|�~           [         ]
A) x2 - 5x + 6 B) (x - 2) (x - 3)
C) 2x2 -10x + 12 D) �|Õeú�

26. 3 MT. uó�Ö y�«kÍsÁÆeTT, 4 MT. mÔáTï ¿£*Zq Xø+KTeÚ �¿±sÁ+ýËqT+&�T >·T&�sÁ+ jîTT¿£Ø

@³y�\T mÔáTï ______ MT. [          ]
A) 5 B) Ö¯ C) A eT]jáTT B       D) @B ¿±<�T

27. ÿ¿£ jáTÖ�{Ù y�«kÍsÁÆeTT >·\ |��Tq nsÁÆ>ÃÞøeTT jîTT¿£Ø d�+|�PsÁ�Ôá\ yîÕXæ\«eTT [         ]

A)  3pr2 B) 2pr2 C) 3p D) 2p
28.            [        ]

                            jîTT¿£Ø |��Tq |�]eÖD+ ____C.C

A)  16 B) 10 C) 6 D) 12

-3
 2

 1
 2
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29. ÿ¹¿ uó�Ö$T, ÿ¹¿ mÔáTï ¿£*Ðq Xø+KTeÚ eT]jáTT d�ÖÆ|�eTT\ jáTT¿£Ø |��Tq |�]eÖDeTT\

�w�ÎÜï [        ]
(i) 3 : 1 (ii) 1 : 3 (iii) 2 : 6 (iv) 3 : 9
A) (i) eÖçÔáyûT B) (ii) eÖçÔáyûT C) (ii) eT]jáTT (iii)   D) (ii), (iii)eT]jáTT (iv)

30. ç¿ì+~ y��ýË n+ÔáyîTT+<û <�Xæ+Xæ\T.
(i) (ii) (iii) (iv)           [         ]

A) (i) B) (ii) eT]jáTT (ii)   C) (ii) eT]jáTT (iii)       D) @B ¿±<�T

31. ç¿ì+~ y��ýË XøSq« d�$TÜ.            [          ]
A) 5 ¿£q� ÔáÅ£�ØyîÕq d�] d�+K«\ d�$TÜ

B) 3 ¿£q� ÔáÅ£�ØyîÕq uñd¾ d�+K«\ d�$TÜ

C) d�] d�+K«\ eT]jáTT uñd¾ d�+K«\ jîTT¿£Ø #óû<�q d�$TÜ D) @B ¿±<�T

32. {x : ‘x’ nqTq~ 10 ¿£q� ÔáÅ£�ØyîÕq d�] ç|�<ó�q d�+K«} jîTT¿£Ø sÃd�¼sY sÁÖ|�eTT [          ]
A) {2} B) {2, 4} C)   {2, 4, 6} D) {2, 4, 6, 8}

33. A = prl nsTTq ç¿ì+~ y��ýË d�ÂsÕq~ ¿±�~. [          ]

A) l = B) r = C)   r = D) @B ¿±<�T
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